A= AT
9H 24 H (1)
9:15~ = At
9:50~10:00 FEITEEE BE
10:00~11:45  VepkIGE SGHTEH
AN TR B
Al MHEHE (BARERER =0
11:45~12:15 #£
12:15~13:15 B&
13:15~13:145 W H AR LA HH
HEN AN RUAL N T — R
13:45~14:45 AR 1 DEBLIC T H1EE © 20 43x3 {#iE]
R B B FLIRER KR
[EREHEREIEICR T DEEOHE R OIEA - FEHHE ]
BIAHE BT G AL

[P EH A 1 4 P 5 B 3R D AR O k]
B AR (SRR R BE)
T B HERERITE O DL L, %EI 2 5 FC/EENIER L= F+51]
A TREE (L LAWEY BV T— 3 Vi)
14:45~15:00 {KEA
15:00~17:00 U—2 i avF (F—<BI/NTN—FF 4 ZAHva )
4 EEAE OB EEAT— 3 )
18 : 30~ ZHS
[ o
9H25H (H)
9:00~10:20 TR E 2 [ R BIT D1EE « 20 4yx4 (]
B . TR AT
[ ~DBAT « TR ORER ]

ANEJE A (BEEES U A R T 7 —KF)
[EWHDMEEDERED L ) AR b B2IEETE T on—dcdE, %Y
LR ~—]
SOt il (EREAE O D)
[ DHEREIZ BT D1EZED
K EEF (BNLLERT)
TVEZENE ORI % F T B B 1 )
7 E BE (NPOEABLRALT)
10:20~10:30 IR
10:30~12:00 RERIRH
afEfl A =K
HE& ¥ EFE NPONERAENILE)
12:00~13:00 B
13:00~14:45 FLRE T
AR AV e RUA BT A — R
& HINOA R
HER  EHE KT (B
14:45~15:00 IR
15:00~16:30 (RN A
FERT  mR HEZ O A EHD A L N—
16:30~16:45 PR



